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Answer Sheet: Infinitives with or without 'to’

Choose the correct answer.

Q1 - They didn't allow me it.

I:ldo

v todo

Q2 - They didn't let me it.

v do

D todo

Q3 - He ought adoctor about that.

[ e

v tosee

Q4 - | wasunable it.
D do
v todo

Q5 - Hemadeus it.
v do

I:I todo

Q6 -1 couldn't them.

v see

|:| tosee

Q7 - | forgot it.
I:I do
v todo
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Q8 - | heard them it.

v do

I:I todo

Q9 - You needn't it.

v do

D todo

Q10 - You don't need it.

Ddo

v todo

Q11 - Herefused me.

[ see

v tosee

Q12 - Wewereforced it.
I:I do
v todo
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